FHEMRE LR RIS [24120707]
BESrHFZEOZRNE [123260]
2024/08/17 ~ 2024/08/17

(hFBF)

RBRCER— B R

H A+ FEH it 207 3 A7 5 613 [Z5a 8fir.
SH1TH LS 7 100m el ORI 12.45(-0.8) |k WHESFUD  12.58(-0.8)[%  FHili(J1)  12.60(-0.8)[ =3ttt BEIk(D)  12.70-0.8) | EEA(D  12.77¢-0.8) [k A= 22(1)  12.87(-0.5)|ZHfk BAEQD  12.92-0.8)[FEk =D  13.06(-0.3)
Hgh N FE FERASS T R A e Fn TS s FhE T
sh1rh| e pioom | m A BERU3) 11.72(0.0) | 5 F2(J2) 11.85(0.0)[ B 75 Z2(J2) 11.94(0.0)| ¥ 5 +:(2) 12.08(0.0)| 5% —1#(J3)  12.20(-0.3)[#Bl: R R(2)  12.24(-0.3)[ (Ll FEL(2) 12.24(0.0)| =7 I /3#(2)  12.32(-0.3)
PN Azigerp ELRS LRI SR BRTHE JNEEF ERERT
[ N [ . PNX(E) 4:37.29| 445 1£7](12) 4:40.38 1131 Bt (J1) 4:41.66 | BF [ FHi A1) 4:43.11 |46 FR(2) 4:45.03| '@ K —H(J2) 4:46.33| A B H2()2) 4:47.27 (Vi QD) 4:50.05
~ RAH RAH B EFE ey Ft B EBR P S HE 5T FERAYS FoE T
SH17H I Wk HER(3)  16.66(+0.9)| ik 5E(2)  16.95(+0.9)| P 32(J2) 17.58(+0.9)[fh i B8 —EA(2)  18.44(+0.9)|HiJsl HAZ2(J2)  18.52(+0.9)[ A% H#H(2)  18.60(+0.9)[HIH Lim(J2)  20.03(+0.9)|BEES 5 K(J2)  20.12(+0.9)
110mH(0.914m) ik AR FhE T High FhE Fiti B [E B P 5 B E HER it B [EBE P S B H
SH17H I IEF FERR(3)  20.29(-1.3)
110mJH(0.991m) ﬁ%m@q:g;g(ﬁ
TRBER DS E 47.25| R HEIR 47.58 [k 47.76 SR AS 48.53|Fi B 48.82[FH & 49.25 [BEF0 5 B rp 49.28 [ T A vE P 49.50
W mkQ2) FAJE 564()2) Jnigg £ 1) LA 3(2) % H #fd(J2) AT HEAR(2) &% IEH(2) iR HZE()2)
SHITH|  shEb@ S 4x100mR |35 BB A()2) =il I/ H#E(2) JES E()2) FH H=H(2) Bl R (2) L E75()2) ZARR BB D iy 32()2)
5 2A02) /N FE()2) fii] FH & E()2) PR #3(12) B (2) & BEA2) HiK FHB01D A I5E()2)
KA i Air(J2) JE #a%k(2) g 2) ek BRIk 1) e (1) e ()2) A J2r(2) EHF 9821(2)
snirn|  wesemn a2 HE(2) 1m65 [ 5 - F1(2) 1m65 )11 1 7524(2) 1m60 [ 1L ACH(J2) 1m55 | #3L Kt H (2) 1m55 [ T4 (1) 1m50 [BE24 1 K(3) 1m50 |3 A 4 (J3) 1m50
) A Fit B [ B P 45 B LEFR R THAE e ER A PR
sATH|  gesstmm ks |V AHEQ3) 3m70 (W5 #EAE(3) 3md0 ()14 #(2) 2m60| = A BEIk(D) 2m30 [ E#(2) 2m20 [iEH Fik(2) 2m10 (ks FK=H(1) 1m80| M H# K()2) 1m80
B Fikarp Fikarp FOEHIRAC SR Az PN WP L IR fiti &
SAITH| e g | 2802) 5m92(+1.2)| Kif #6#7(J2)  5m29(-0.)[Mif MZ2(2)  5m28(+0.7)[MH FEA(3)  5m16(-0.5)| K% Brik(12)  5m14¢-1.3)[F FlE(2) 5m13(+0.3)| LT M 1) 5m12(+1.5)| Il 3()2) 5m01(-2.3)
— THAE Y it B B 5 E THE T R RN g R FEAR P THE T
spirp| RS TRLE M EA(3) 11m67 |75 % ££02) 10m56 | H:fai 1%(J2) 9m64 i HERE()3) 9m30|E AL KEH (J2) 8m70| =% AU 8m38 |5 K AE()2) Tm95 [ Bk Fk(2) Tm78
(4.000kg) Fkarp SR A Fiet B [ B P 45 THAE BRI FaEr RHEH
(5] K% il (°C) W HE (%) JE ) Jili (m/s)
08:30 [ 31.9 57.0 7 7 0.5
09:00 =3 33.0 53.0 74 15 74 1.4
10:00 i 34.1 49.0 4 1.1
11:00 =3 35.0 45.0 (N 0.1
12:00 if§ 36. 1 43.0 74 7 74 0.0
13:00 =3 36. 1 42.0 74 15 74 0.8
14:00 i 36.0 48.0 L 2.5
15:00 i 35.0 54.0 S 3.3
16:00 if§ 34.2 56. 0 T 1.4
16:37 i 34.0 57.0 9 7 P 1.9




FHEMRE LR RIS [24120707]
BESrHFZEOZRNE [123260]
2024/08/17 ~ 2024/08/17

RBRCER— B R

=4 .
RZE = IF S HR
( EFI %t¥) TA—AREHE R
ST A A
H A+ FEH it 207 3 A7 5 613 [Z5a 8fir.
SH17H S L A 100m A REJD 13.99C-1.0)| 8K 51 13.99(-0.2)[fif [ U1  14.00-1.0)|[FE%F EZ7(1)  14.04-1LO)[EBA E(D  14.06(+0.5) Ll FEQ1) 14.16(-1.0)| EAR HER(D  14.17C-1L0)|Fik 870D 14.19(-2.3)
WS HER R FhE T REF g NN A
SHITH|  eseamsrioom | S 2202 13.37(2.4)|4TH KF(2)  13.402.0(0i# £ H(2)  13.55(2.0)[ KK ZWA(Q3)  13.75(2.40) |8k 23K(2)  13.78C1.D|HH %E3£(02)  13.79C2.0)[ K ids(3)  13.81C1L.D|H & AMJ2)  13.85(-1.1)
FRBEEE S HE fRE oo S Nicha fa HHE B AR B0
[ N [ 7N o EUR) 5:00.26 [l /\ T 2£5E()3) 5:00.37[ L H1£5(2) 5:10.44 |4 0:35()2) 5:13.86 (5L Er32()2) 5:21.51 |l $RIL(1) 5:28.38(F i FAEFL(T) 5:34.56 il 7>0>1-(J1) 5:35.99
~ BT RAH FER FERARS RHE Az Fi B [E B P B H B0
SHITH St 4T ok Fx(2) 16.72(-0.4) [ = A @ 5-()2) 16.75(-0.4) [ KA ZEDQ2)  17.79(-0.4)|fitkt AHEARJD  17.88(-0.4)[ILA FZ2(2) 17.89(-0.0)|F1H X 1-(J2) 18.02(-0.4) | fi & LR 18.15(-0.0)|[%F #E3%£(2)  18.16(-0.4)
100mH(0.762m) R FEAR P oo FRBEEE S HE SR Lk AL HEH
SH17H oIt A STH KK(2) 15.38(0.0)| &% 023 (J3) 16.56(0.0)| Ak We+-(J3) 18.78(0.0)
100mYH(0.762m) fRE ki FREEEE P S HE
fEh 53.88 |l T 54.04 [ 54 54.10 1L 54.84( T4k 5 PE h 54.88|/h A 55.11 % 55.32| A & 55.33
taH ¥kJ2) KA FHi45()2) IRgF A5 4<()2) =K 04(2) LS H0()2) B (1) I Fri()2) i (1)
SHITH|  shEb@ L F4X100mR | $3K B 3E()2) e % H(2) FRf 2E4()2) 8 #4EE()2) e HR(2) ik Z#1(2) Jia #01 gk Hx(2)
R EE(2) RECE SR ¥ 15(2) IH wEE(L ERE &<B]1) AR HEZ(D B F2k(2) U B8 75()1)
STH KIK(J2) By AriLJ2) A Hi2(2) HE Hkg2) R B5 (1) 1 EHJ2) I LA L) fif BRI 1)
= 1 R(2) 1m40[ K[ #%(3) 1m40]AiH #(J2) 1m35] )11 FHU3) 1m35 JiR £(2) 1m30[W i #3E(Q L) 1m30[/& FLmgn) 1m30
SALTH| et T g PRI Lty A= e i et FeBEBE P EHE FRBEBE P EEE
A EL85()2) 1m35
B
150 % P()2) 2m50 iR ERLUE()2) 2m50 | fk #%/5()2) 2m40 [ B(2) 2m20 (g E£EE2) 2m00 | #2 i B5re 7-(J2) 1m80 [ ELik ()2) 1m60
O % Fikarh K R TR BPLEFR A
8H17H o A7 B gk S E) 3m50
Fikarp
sarn| s cmg | PR 202 AmT9G0.6)| BT AEIRGD  4mTIGO3)|FJF R F(2)  4m63(+0. DK H 3(2) 4m62(+0. V|8 A Zb(1)  4mds(HLY)|ZEHE £E(2)  4md8(H0.2)[ A4 #TAA(2)  4m35(+1.6)| FA HERK(L)  4m33(+0.6)
a Bea Fit B [ B P 45 FEOR P Fiet B [ B P 45 FEAR FERAYE FEAR A=l
spirp| PEsEaTRLE | ERO2) 10m15| A #4302) 9m60 /N FLIN(1) 9mO7| H ¢ FAE(2) 8m68| = A L:2(J2) 8mO3|1LE % A (1) Tm94 (= 5 ALU2) Tm53 (HEE EH(2) Tm41
(2.721ke) TR R Fit B [ B 45 B H AEE AEE A B0 AN =
BRI (B AR A)  [FERR A& 115 i fn B 69 [ 5in & 61511 59| TR A 57| WSZ T3 A7 [ R 43| FHA 42




